TP P ER=HFE LA SRS R LS

1. & FEE
%éﬂ=uu@x{U,B=huagsm,mwng=()

A [-33] B, (0410) - (03] p [-3./10)

2. IRFERR

W = LR = e s b, T R
A —1B 1c ip —i

3. EFEE <
i Ep N VXE [1, + o0)sinx + cosx < 2, W-rg ()

A Vx € [L, + o) sinx + cosx > 2

B Ix€ [ - o0,1),sinx 4 cosx = .2

C. Ix €[1, + oo),sinx + cosx > N

D, Vx € (—oo,1),sinx + cosx <2

4, FEFER -

log,a<l o
H 5, WemBETERLZ (O
7 7 7 7
O<a<— a>= —<g<l fecac=
3 3C.3 b. 3ka>1
5. PR
oE [ }
2 51“[\5' 6.{/1

=

R 4N HERKBR(- )

b '
) ‘
i A i
= ] e —r— = -
¥ ”._. i < '.-:';I - | |'-'_IFI w ".‘ e |

A. B. C. D.
6. P

AT A ER ) T, 9%6=3, ostas= ()

A. FE/IME6 B. HEKME6 C. BB KAMHI D. FH/IME3

7. B

3
]
f

-
LA

.
cx=y.—1
EARY, VIERAREM VS, ey Bkl (O
A.2B.2m2 C. -ln2 D, In2

-

I

8. EFE
17T LEEELARRCER AL G LX< JA%EERGE, —MTR_RAKEHE, 5




